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[OH]= /CK,
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1.7%7 =T /KI1L, §7bb, 7 E=77K1000¢g
ZT =T N1 gEENHDT, TOENMRE CIX
C= {17(g)/ 17(g/mol)} /1(L)=1.0 mol/L

B, Thdb,

[OH]= V1.0x23x 107 =4.8 x 107 mol/L
[H]= (1.0 x10*) /(4.8 x10)=2.1x 1072 mol/L

pH =-logio(2.1 x 107%) =12.00 - log10(2.1)
=12.00 - 0.32=11.68

C=1.0mol/L | pH=11.68
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EiB PbO, + 4H* + SO,%" + 2e” = PbSO, + 2H,0
=L} Pb + SO, - PbSO, + 2e”
(2)
(FtHEiBE)
BETORKH,SHELEZERER

(2% 14.4X96485)/(303.2-207.2) = 28945.5 (Pb=207.2, PbS0,=303.2)
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FeS + H,S0, = H,S + FeSO,

(4)

G

SO, + 2H,S > 3S + 2H,0
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(FHEB18)
10FeSO, + 2KMnO, + 8H,S0, - 5Fez(S0s)s + KSO4 +2MnSO, + 8H.0
ROZERKENELLT B,
FeSO, ¥ KMnO, 145 : | DEIMLTRIST 3, (FeSO.: 151.8, H.0: 18.0)
0.5556/(151.8+18.0Xn) : 4.00X 102X 10.0/1000 = 5: |
n =7.00
7.00X6.0221X 1023 =4.2155%X 10* AOKZFEEL.

4.22x10* {@
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(eERIE)
[EHBASRKIER] 2AgNO; + 2NaOH - Ag,0! [#&&] + 2NaNOs + H.0
[3E/LESRAKEE] ZnClz + 2NaOH - Zn(OH)2 4 [&&] + 2NaCl

[SLRGEM] Zn(OH), + 2NaOH - Naz[Zn(OH).]
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